(Ncme: )

The rooster and hen mate and the adult hen lays an egg.
The hen uses her body to keep the egg warm.

After 21 days, a baby chick hatches from the egg.

After three months the chick has grown into an adult
chicken (hen or cockerel).

The rooster and hen mate and the adult hen
lays an egg.

After three months, the

chick has grown into an ./
adult chicken (hen or
cockerel).

The hen uses her body
to keep the egg warm.

After 21 days, a baby
chick hatches from the

€gag.

Fill in the correct answers to complete the sentences:
The chicken uses her body to
A baby chick hatches after

The chick grows into a or
after

Did you know? A rooster is 3 mature male
ChiCken and a CoCkerel is @ Youhg male chicken.

f'( Life cycle of a chicken )‘*

A fresh egg is...
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